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Exercise 2 \ / 2

(S): {X tH=y Xy (xy)eZ? : dahdl o
y? +xy =30
~ (1,30);(2,15);(3.10);(~ 1,-30); (- 2,~15);(~ 3,-10);
(S)= vy +x)=30=(y.y+x)e {(30,1); (15,2);(10,3); (- 30,-1)(~ 15,-2);(~ 10,-3)
S (yn)e (1,29);(213);(3,7);(- L—-29);(- 2,-13);,(- 3-7);
Y (30,-29);(15,~13);(10,~7);(— 30,29); (- 15,13);(- 10,7)
(29,1);(13,2),(7,3);(— 29,~1);(- 13-2);(- 7,-3);
=(xy)e
(- 29,30);(— 13,15);(— 7,10);(29,-30);(13,~15);(7,~10)
S={(7.3)(- 7,-3)} : ks o Lalaidl G A 15501 o G 5V Allnall (& i sailly
(b Biall il il s i) (S Jad Baie 055 O LST ¢ X 23a Baa b i il sganal) e e slaall Gians Ul (S (Sar 9%
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Exercise 3 \ / 3 (sl
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a+b b+c a+b+c

fin

") (a+2b+c)a+b+c)=3@+b)b+c)
(*) a’+ab+ac+2ab+ 207 + 2bc+ac+bc+c? = 3ab+ac+b? + be)
*) = a’ + 2b? + ¢? + 3ab + 2ac + 3bc = 3ab + 3ac + 3b® + 3bc
()< a’+c’-b*=ac
2 2 2
*) = cos(é):%Q B=60° o3 ccos(é)z% - LU [T N
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ADC + PDG =180° : i a5 ADC + ABC =180° : ¢ ¢ s =L, ABCD L
PDG = ABC : g

(oL liliEie (i 5) DGP = FGC Ll

(sl i ) et lihms (W3) FGC = FEC

(ol Y Comia Lindf 8 0 ) Jas 5 58 Ll (5 siaall ) 3 ) FEC = BEF

DGP = BEF : o

(AD) L (FG) ¢! « DPG = BFE=90° Jul« e DGP 5 BEF okl )






